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QUESTION 1

Which two statements correctly describe capabilities of interfaces and abstract classes? (Choose two.) 

A. Interfaces cannot have protected methods but abstract classes can. 

B. Both interfaces and abstract classes can have final methods. 

C. Interfaces cannot have instance fields but abstract classes can. 

D. Interfaces cannot have static methods but abstract classes can. 

E. Interfaces cannot have methods with bodies but abstract classes can. 

Correct Answer: AC 

Reference: https://www.guru99.com/interface-vs-abstract-class-java.html 

 

QUESTION 2

Given the contents: 
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MessageBundle.properties file: 

message=Hello 

MessageBundle_en.properties file: 

message=Hello (en) 

MessageBundle_US.properties file: 

message=Hello (US) 

MessageBundle_en_US.properties file: 

message=Hello (en_US) 

MessageBundle_fr_FR.properties file: 

message=Bonjour 

and the code fragment: 

Locale.setDefault(Locale.FRANCE); 

Locale currentLocale = new Locale.Builder().setLanguage("en").build(); 

ResourceBundle messages = ResourceBundle.getBundle("MessageBundle", currentLocale); 

System.out. println(messages.getString("message")); 

Which file will display the content on executing the code fragment? 

A. MessageBundle_en_US.properties 

B. MessageBundle_en.properties 

C. MessageBundle_fr_FR.properties 

D. MessageBundle_US.properties 

E. MessageBundle.properties 

Correct Answer: C 

Reference: https://www.javatpoint.com/ResourceBundle-class 

 

QUESTION 3

Given: 
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Which three actions implement Java SE security guidelines? (Choose three.) 

A. Change line 7 to return names.clone();. 

B. Change line 4 to this.names = names.clone();. 

C. Change the getNames() method name to get$Names(). 

D. Change line 6 to public synchronized String[] getNames() {. 

E. Change line 2 to private final String[] names;. 

F. Change line 3 to private Secret(String[] names) {. 

G. Change line 2 to protected volatile String[] names;. 

Correct Answer: EFG 

 

QUESTION 4

Given this enum declaration: 

Examine this code: 

System.out.println(Alphabet.getFirstLetter()); 

What code should be written at line 3 to make this code print A? 

A. final String getFirstLetter() { return A.toString(); } 

B. static String getFirstLetter() { return Alphabet.values()[1].toString(); } 

C. static String getFirstLetter() { return A.toString(); } 
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D. String getFirstLetter() { return A.toString(); } 

Correct Answer: C 

 

QUESTION 5

Given: 

Which two are correct? (Choose two.) 

A. Option A 

B. Option B 

C. Option C 

D. Option D 
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E. Option E 

Correct Answer: CD 
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